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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any S questions from 1 to 6. Each carries 2 scores.

1.  Construct percentage frequency table for the following data :

(5x2=10)

Age

5-10

10-15

15-20

20-25

25-30

30-35

No. of Students

6

8

18

14

2. (a) When all the values of a data are equal then the standard deviation would be
(1)
M 1 () -1
(i) O @iv) 2
(b) Ina set of values, highest value is 50 and the range is 24, what is the lowest value ? (1)

@ 74 (i) 26

i) 72 (iv) 58

3. The heights of students (in inches) is given below. Calculate quartile deviation of the

data :

Heights | 55 | 54 | 57 | 67 | 60 | 61 [ 58

4.  The first four central moments of the distribution are 0, 9.2, —3.6 and 122. Calculate

coefficient of Kurtosis of the distribution and comment on the result.

5. IfP(A) = % P(B) = % and P(A and B) = é Find P(A U B).

6.  Write any two situations where sampling survey is preferable to census.
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1 a)@@8 6 Q190 cadinElcd o@E®BIEN S aIROTIM PODHEOAYI®)M:.

2 capoad aflow. (5x2=10)

1. @oey @aidlenam 3om@wilong vo@macm @RAISES alSld: QIO :

N4

(o]} @(R
DG DSOS 6 8 18 14 6 3
ORI

5-10 | 10—-15 | 15-20 | 20—-25 | 25-30 | 30-35

2. (a

80) Wwoguilor! af)efo alleidgle @eIyRIWIE3 AN AyGEIWIMe
@)@ BeNo. 1

i 1 Gi) -1

(i) 0

(iv) 2

(b) 80 @go alleidgldd aggone dAM aflel 50 9o, aldlw]l 24 9o @Y.
aBI@3 a@ganjo BHJ06ID el af)(@ae ? ))
H 74
(i) 72

(i) 26
(iv) 58

3. o5lages 9o M ied ®oee @GN RGN 2l@)oUd QIYGIWIM.

DB ISl :

Vo 55 | 54 | 57|67 | 60 | 61 | 58

4. 80 aleemmaonion @rsiee™ 4 el 6a0003)3g6m 0, 9.2, —3.6, 122 agarial.
OIS BHAEOTINY 1)EMOB0 DN ISIEn)d. @REIEIIDo CORINA]SITTMBHD)o
021Q))B>.

5. P(A)= %@o P(B)= % 9o P(A and B) = % 9o @RI P(A U B) &6n)allSlen)d:.

6. avomilid rudeg) HILAIVIVIEMEHIUB EREB:ONIAOW 2 TVMABEEBUB ag) )@
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Answer any 6 questions from 7 to 13. Each carries 3 scores. (6 x3=18)

7.  (a) Whois known as the father of Indian Statistics ? 1)
(1) R.A. Fisher (1) P.C. Mahalanobis
(ii1) Karl Pearson (iv) Spearman
(b) Writ a short note on any one applied area of Statistics. 2)

8. (a) The pre-test with the questionnaire before conducting a survey is called
1)

(b) Distinguish between primary data and secondary data. Write any 4 points. 2)

9.  Prepare a questionnaire regarding the travelling problems faced by school children.

10. In a cycle race competition, the speeds of 5 participants are 12 km/hr, 15 km/hr,
16 km/hr, 18 km/hr and 19 km/hr. Find the average speed.

11. The value of mean and mode of a frequency distribution are 50 and 45 respectively.

Find the median.

12. (a) Explain different types of Skewness. 2)

(b) For a symmetric distribution : (1)
H  By=0 @i) B, <0

(i) B, >0 (v) B, #0

13.  Name three non-probability sampling methods.
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10.

11.

12.

13.

7 2)®@3 13 2100 ¢a103inEled aBo@BIENe 6 af)INOTIM DOMOOAI®)d.

3 capod aflow. (6x3=18)
(@)  eamyad quodlalaled almoni @rooem? 1)
(1) @»38.af). alland (il) afl.oVl. an0oeicmosmilay’
(ili) S alleaarvend (iv) aflodaoad

(®)  quogladlamileel  ago®@®lene  80) (alcIld:  @RIOCMENTla]  BO)

eleenaflalosmoe af))@)d. 2)

(@) 80} aLVAOAI MSOMOASYNGIM) MM Galo3alel  DalcIUfla))85
2)0Bal@lGUOOWME W ag)an aflgleman;. @
(b)  (ondle; somane Blalle somal @eNsSs ogomeslene 4 alymPLE3U3

af) 9@, 2)

B alBlodmOlages WIMICHUIROG (ITIaloElEnam &80) Galdsyoalef

@QO00HE) .
80} 06MVHINUB  BIFAGILEODIG  AlDEBSIHMAN 5 CalO)S CAUNMRHUE 12
S.dl./aemile,nad, 15 &l.0l./aemlee)d, 16 &l.ol./memlend, 18 &l.dl./aemles)d, 19

B).20./26mMe@ ag)aTIAIEM. YORIUOGBIGAIND) BH6TM)M:.

B0) MSGlo (1IIDEBBOS MOWIONe, CAIW INIHMo S0, 45 afarlalwosm.

QWO BHIEMD.
(@) Ay ®ooXIenNss A NM@HUd ANlUdEldElEe)d:. )
(b) &) cvad® almosmoien : 1
@) B] =0 (i1) B] <0
(i) B,>0 iv) B,;#0

2N TVoRICAIMA (AIGIB)alerN NOBUETBUB af)$IE ).
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Answer any S questions from 14 to 19. Each carries 4 scores. (S x4=20)

14. There are 3 streams in a Higher Secondary School. Science, Commerce and
Humanities. Boys, girls and transgenders are studying with 3 different second

languages, Malayalam, Hindi and Sanskrit.
(1) Draw classicification sketch.

(ii)) Draw the skeleton of the table.

15. Draw suitable diagram for the following data :

Year | Sales (000) | Income (000) | Profit (000)

2000 100 30 10
2001 120 40 15
2002 130 45 25

16. Eleven students were given a test and the scores obtained by them are as follows :
8,7,6,9,1,3,10,8,4, 7, 11

Represent the data using a box plot.

17.  The number of accidents occurred due to careless driving on a busy road during 7 days

in a week is reported below :

No. of accidents 8 10 6 7 5 4 2

Determine mean deviation about mean.

FY-432 6



14 2)®@3 19 190 cansiEndloal ago®Bslene S afIPOIm’ DOMOOAH®)D:.

4 capod aflo. (5x4=20)

14, 80) ac@Baquendaed qusmgEloel ALV, OBHICAYIV a0 AMFIaV” agaTs
afleowemgl@d 2eIwIBo, odldEl, AVAPI@o o)l ORI  EOUBURB  aldlee)am

@RS D)5 D)o, HAlENS B35 B8]0 (SOMBAVHRAFEW V)0 DeNe:
(i) Tl 30} ARUlHEM 0)aICOE! AUORID:.

(i) aISlBHWOS 21g6eS WA E9)B:.

15, @00y ®aTdlesam WogE) @RMCWIRAIW WD AIOW]: |

al@atto | aifladaim (000) QIoy@0mo (000) | £10€0 (000)

2000 100 30 10
2001 120 40 15
2002 130 45 25

16, a1@lOMIN )5BS MSO® aIBlSHDOS eI 8, 7, 6,9, 1, 3, 10,8, 4, 7,

11 a)arlai@oem gnaInH® 680} GMIOKHIV 6alog DaleoUllaf TV)a laflee)s.

17, @an@yeL@©] QlNEleIS]e|® NLINKMBOD BRAIMBSHBBINS af)FREIBUD BIYalVlee!

agly Alaiavemglad Gigea|s)erilaldeniam :

@R IHSEBROS agf)aNo 8 10 6 7 5 4 2

2OWIEDIE3 WlAMES QINGIWIMAOWo B>06MM)M>.
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18.

19.

20.

21.

One card is drawn at random from a pack of 52 cards. Find the probability that
(1) The card drawn is a king.

(ii)) The card drawn is a red card.

(iii) The card drawn is a black ace.

(iv) The card drawn is a club and queen.

A coffee shop has 3 coffee machines A, B and C. They produce 25%, 35% and 40% of
the coffee respectively. 3%, 2% and 5% of coffee dispensed by the machines are
defective. Then what is the probability that the coffee supplied to a customer is

defective ?

Answer any 2 questions from 20 to 22. Each carries 6 scores. 2x6=12)

Given below is the frequency distribution of ages of 70 persons in a colony. Draw a

greater than ogive and a less than ogive for the data :

Age 0-10 | 10-20 | 20-30 | 30—-40 | 40—-50 [ 50-60

No. of Persons 5 11 27 19 5 3

(a) The distribution of sales (in numbers) of brand A toothpaste in a margin free shop

in a town is given below. Find the mode of the distribution. 4)
Sales 0-10 | 10—-20 | 20—30 | 30—40 | 40—-50 | 50-60
No. of Days 4 10 20 11 3 2

(b) In a school there are 253 girls whose ages have a mean of 11.8 years. There are
312 boys whose ages have a mean of 12.3 years. Calculate the mean age of all
565 students. 2)
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18.

19.

20.

21.

52 #0Bw)»B @RSEEI® 80) ald@F@d AN B0} HOBW (HACaG®AIW]
af)S)HNAM). af)BI B3 DI alOWIANAUWIOS TVo@IAUY® )haNE)allSIH )d:.

(i) f)S)O® 3HOBW Blow) @RYEM.

(i) SO BHIBW B0} 21)01AN B:0QW @RYEM).

(iii) ag)S)O® BHIBW B0} BH0)TD aBAV BRI,

(iv) SO $0BW B0} ghnilo dllM)o @RYEM.

830} c»afflcaudafl@d A, B, C ag)am 3 cdafll 00edlMd03 DMe. @1y 62HlM)3H0d
@OV D0 25%, 35%, 40% cd0adl ©@alddlafleniam). @@ LOoRe 3%, 2%,
5% @3dafl c®HSUIN@IEM. )BT B0) DalGRIGMIANM Alla3emmm  GBdall

CHS)QUEOMBB MVoRIAUYD af)(WWEN ?

20 2)®@3 22 AO0 ¢aloBBEled aBEOBIEe 2 af)FPOTIM DOMODAI®)d.

6 capod allow. 2x6=12)

830 cHSMVIT ®oarilenam 70 CRBHBOS CRHAILOTNA|SIHWIM  21)0160S
GalBODIgIBR®. @GO @YEO0M AVEANGINNEDI QAlMORo @RAICOIA06M

Ve l@0QOTDI Ao QIO |

N4

O.I@(R
FRBHROS 5 11 27 19 5 3
cO9B°

0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

(@) &0 svemloel 80} 208edm (Edcaudaflorr EnRBW A S)EBCEAIQO]

(b)
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aflgimees all®mosmalsm @y  @ICENM®. @RGIOW)  caow’
6N NS186)d. “4)
ailg|jm 0-10 ] 10-20 | 20-30 | 30—-40 | 40-50 | 50-60
dlaiquensos 4 10 20 11 3 2
cO9B°

830 IS @3 al1Slee)aM 253 HalemddSlagiens alqiend aowie 11.8 aidaualo,
312 @Remdaglages aeqiend 20w 12.3 aidauale @M. ag)@los
TRYODHW)BB 565 MS1HBOS AUDAIOZ AOW o H0EM)M:.
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22. Prices of a particular commodity in 5 years at two

Karnataka are as follows :

different cities in Kerala and

Karnataka (in )

20

25

23

22

24

Kerala (in %)

22

26

25

23

30

Which state has stable price ? Justify your answer.
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22, coaogsomloni@p SHBaNISaaleaci@le 2 MUoaBEl@d 80) 2@ajmmorieand 5

aIBauemngloet aflel 2110165 3:06MlaBlENaIMN @ (aIB:00M6m) :

HBINOSH, 20 25 23 22 24
()10 @3)
GH0Bo 22 26 25 23 30
()10 @3)

aB®  QLEALOIMEMIAM  TuOlEEWBS  AleIVEs® ? JlaBs1S  DTNOHBIN

ALIWY BB LN .
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